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1) Beginning with year 1, deposit $1,000 a year at the end of the year into an account
that is earning 3% interest compounded annua&r:mﬁear 11,1 increase
my end of the year deposits to $1,500. How much do I have immediately after my
20" deposit? 5 pts
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2) T'wish to buy a $400,000 house. How many months will it take to pay off the house,
given that.Ltake out a loan at 7% intemded monthly, and that I can afford

to pai$§,66%ach month? 5 pts

A A ‘?\ o
Hoo,000 (\r¥e) = GO\ ey )

TS e
P
e

A
e /
| o /
e ¢ é: ifﬁ‘\f\“;.fg‘ﬁé
50 (\*‘O?/%\l
LS v

\r\!(.%%‘) -z n () ””7;2}
%Qy\({l%'a‘ﬁ'@j} “ ‘V\(J. [ngém\}
+ 5928 FHS04 = “12n

4 QHopHosF = A= g
[ (1\(\;’. 5}“%.2,@“}:}'(5%%%’% it s ?‘:7[/@ e oty




3) For the house in problem 2, how much do I owe after two years—i.e. after the 24
payment? 3 pt
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4) 1 win a contest that pays $100,000 immediately. Each year it pays 10% more so, for
example, my second-payment is $110,000 and my third is $121,000. Assuming that I
geta tota_l:éif 20 paymentst,:)}zhat is the present value of this award at the time of my
first payment at 4% interest? 5 pt o
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5) Answer the following questions concerning underwriting: 9 pt
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a. What is underwriting?
b. Who does it?
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c. What are the four risk categories? ‘Wi vrplagand 70
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d. What is adverse selection? Give an example of it.
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e. What is moral hazard? Give an example of it. b , .
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6) Answer the following questions: 4 pts
a. What is the doctrine of proximate cause?
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7) A home owner' policy generally consists of two major sections, the first labeled A-D
and a second part. What is covered under: 10 pts

a. Section II
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8) Answer the following questions concerning the insurable interest requirement in
insurance: 8 pt

a. ‘What is the “insurable interest requirement” and why does it exist?
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b. Who requires it?
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¢. In which members of an individual’s family would he/she automatically
be presumed to have an insurable interest?
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d. Give two examples of other circumstances under which an insurable
interest might exist.
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a. What kind of insurance company sells workman’s compensation policies?

9) Answer the following questions relating to Workman’s Compensation: 8 pt

b. What was the doctrine of contributory negligence?
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c. What was the doctrine-of-assumed risk?
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d. How do the doctrines in b and c relate to current laws on workman’s

compensation?
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e. Under current law, how does one determine who is at fault/in a work related
accident?
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10) Discuss insurance companies as business organizations. Answer the following
questions: 9 pt

a. What are the three ways a business might be organized? Of these three
which must an insurance company be?
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b. Distinguish between mutual companies and stock companies.
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c. Give an advantage of being a mutual company.
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d. Givetwo a"dvantages of being a stock company.
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e. Most insurance companies started as which form? Wh
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11) The current value of my house is $200,000. Ihad a fire that caused $21,000 in
damages for which I paid $6,000 with the insurance company picking up the rest. My
home owner’s policy has a $1,000 deductible on fire damage and a 75% co-insurance

requirement. How much did I have my house insured for? 5 pts
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12) Joe has w&ggw_%lwmd house with a linearly disappearing deductible. For
losses;g/f$1,000 or legs, the deductible is $500 while for losses of X or more there is
no deductible: Fitid X given that Joe paid Joe paid $375 for a loss of $2,000.
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13) Ed and Mary live 1 1&0 fault stEte While driving in a snow storm Ed runs into
Mary’s car. It was clearly Ed’S Mary and Ed are both fully insured. & pts

a. Mary has to be taken to the hospital and treated for her i injuries. Which
coverage of pays for Mary's hospital costs?
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b. Mary is not satisfied with the amount she will get paid in part/a. Under
what circumstances could she sue Ed?
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c. Assuming that Ed has Liability Coverage, what role, if any, would Ed’s
insurance company play in the law suit in part b? To what extent? (Be
specific.)
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d. Whlch coverage pays for the damage to Mary’s car?
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15) Below you are given a table of losses evaluated at 1/1/2010 for Klunker Auto
Insurance. Assume all losses are fully developed at 48 months. Fill in the
corresponding paid loss development factors in the second table. Give an answer

accurate to at lew&r the decimal. 5 pts

Loss Reserves

Cumulative Paid Losses
Accident Year Development Stage in Months
12 24 36 48
2006 2,500 3,325 4,156 4,780
2007 3,000 3,600 4,644
2008 2,000 2,660
2009 1,000
Development Stage in Months
Paid Loss Development Factors
Cumulative Paid Losses
Accident Year Development Stage in Months
12-24 24-36 36-48
2006 1,373 1.2 8 Lils
2007 Iz [.29
2008 /. 33
2009




16) Based on the data in problem 15, Klunker’s actuaries decided to use the loss
development factors given below. What would their estimated reserves be for each of
2006, 2007, 2008, and 2009? 3 pt

Selected Loss Development Factors

12-24 24-36 36.48 48-Ult.
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